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. Please answer the following questions: (30 53)

1. Please focus on a close economy in the year when unemployment rate was above its natural rate.
Please describe the likely adjustment proeess followed in such an economy in the long run with
AS-AD models with the aid of diagrams. (10 43)

2. Discuss how a decrease in the price level affects the aggregate demand in an open economy under
flexible exchange rates. Describe briefly at least three different effects with the aid of diagrams. (20 53)
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Year P of milk P of bread
2007 $2 $4
2008 $3 $5

1) Assume a typical consumer consume a fixed consumption bundle as 20 milk and 6 bread.

Calculate the CPI for year 2008 (CPI in 2007=100)

a. 120,
b. 150.
c. 140.
d. 163.

2) Which of the followings is not a reason why labor markets always experience unemployment?
a. unions

b. job search

¢. flexible wages’

d. minimum-wage legislation

3) A few years ago, based on concepts similar to those used to estimate U.S. employment figures, the Canadian
adult non-institutionalized population was 24 million, the labor force was 16 million, and the number of
people employed was 14 million. According to these numbers, the Canadian labor-force participation rate '
and unemployment rate were about

a. 67 percent and 8.3 percent.
b. 67 percent and 12.5 percent.
c. 58 percent and 8.3 percent.
d. 58 percent and 12.5 percent.
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4)  Which of the following is NOT correct? o
a.  Countries that have had higher output growth per person have typically not done so with higher
productivity growth.

b. A country’s standard of living and its productivity are closely related.
Productivity refers to output produced per hour of work.
High output per person growth is mainly attributed to high productivity.

5) Complete Milton Friedman’s famous proposition: “Inflation is always and everywhere a

phenomenon.”
monetary

a.
b. political

c. policy

d. budgetary
[6) According to the Taylor rule, the Fed should raise the federal funds interest rate when inflation the
Fed’s inflation target or when real GDP the Fed’s output target.

a. rises above; drops. below
b. drops below; drops below

rises above; rises above

e o

drops below; rises above

7) . Lucas argues that when policies change, expectations will change thereby
a. changing the relationships in econometric models.
b. causing the government to abandon its activiststance.

c. forcing the Fed to keep its deliberations secret.
d. doing both (a) and (b) of the above.
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8) If the public decides to hold more currency and fewer deposits in banks, bank reserves
a. decrease and the money supply eventually decreases.

b.  decrease but the money supply does not change.

c. increase and the money supply eventually increases.

d. increase but the money supply does not change.

[0)  Assume that the interest parity condition holds. Also assume that the U.S. interest rate is 4% while the UK.
interest rate is 6%. According to the interest parity condition, the financial market expects the U.S. dollars

to:
a.  depreciate by 10%
b. depreciate by 2%.
c.  appreciate by 2%.
d. appreciate by 6%.
e.  appreciate by 4%.

P9 ~ (32%) Please answer the following questions;

1. (9%) |
a. (3%) Consider a production function of the form Y = F(K,L) = AK I’ where K is the capital and L is
labor, Assume that a=0.5, b=0.5, A=10. What will happen to the total output growth rate if capital
grows at 6%, labor grows at 4%, and the total factor productivity growth rate is 10%?

b. (6%) Based on the information given in part a, determine the steady-state values of the output per capital
(Y/L) and consumption per capita (C/L)in a Solow Growth Model if the saving rate equals 0.3 and the
capital stock is depreciating at a rate 10% (0.1)?

. (23%)
? a. (5%) During the financial crisis, central banks all over the world have tried to implement expansionaryj
monetary policy by lowering the interest rate. While the level of interest rate has almost reached zero,
people urge the government to increase government expenditure. Use an ISLM diagram to show the
effects of the expansionary fiscal policy on the economy when the interest rate is close to zero.
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b. (10%) However, in a regular case where the interest rates are positive, an expansionary fiscal policy may)|
incur short-run and long-run crowding-out effects. Use an ISLM diagram to explain.
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c. (8%) As we know, central banks have played a crucial role in the financial crisis. Discuss the functions of

the discount window, central bank’s role as the lender of last resort and why it may incur the moral hazard)
problem.
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